
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

MEASURES OF CENTRAL TENDENCY

Others

1. The following observations have been arranged

in ascending order. If the median of the data is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eL904Yo91ak6


63, find the
 value of 
 


Watch Video Solution

x : 29, 32, 48, 50,

x, x + 2, 72, 78, 84, 95

2. Find the mode of the following data in each

case:
14,25,14,28,18,17,18,14,23,22,14,18

Watch Video Solution

3. Find the mode for the following series:
7.5, 7.3,

7.2, 7.2, 7.4, 7.7, 7.7, 7.5, 7.3, 7.2,
7.6, 7.2

W t h Vid S l ti

https://dl.doubtnut.com/l/_eL904Yo91ak6
https://dl.doubtnut.com/l/_ftccMDLWdFqy
https://dl.doubtnut.com/l/_VBosSFzEzHwt


Watch Video Solution

4. Find the mode for the following series:
2.5, 2.3

,2.2, 2.2, 2.4, 2.7, 2.7, 2.5, 2.3, 2.2,
2.6

Watch Video Solution

5. Find the median of the following values:

37,31,42,43,46,25,39,45,32

Watch Video Solution

https://dl.doubtnut.com/l/_VBosSFzEzHwt
https://dl.doubtnut.com/l/_vEPkuMe4jJDV
https://dl.doubtnut.com/l/_hUHAgnzlqMmr


6. The following observations have been

arranged in ascending order. If the median of the

data is 63, find the
 value of 
 


Watch Video Solution

x : 29, 32, 48, 50,

x, x + 2, 72, 78, 84, 95

7. The sums of the deviations of a set of 
values


 measured from 
 and 

and 
 respectively. Find the value of 
 and

mean.

Watch Video Solution

n

x1, x2, .., xn 15 −3are − 90

54 n

https://dl.doubtnut.com/l/_zZ7T7GvUDaui
https://dl.doubtnut.com/l/_rIet1Nvnoku3


8. Find the values of n and  in each of the

following cases: (i)  and

 (ii)  and

Watch Video Solution

¯̄X̄

n

∑
i=1

(x1 − 12) = − 10

n

∑
i=1

(x1 − 3) = 62
n

∑
i=1

(x1 − 10) = 30

n

∑
i=1

(x1 − 6) = 150

9. The mean of 5 number is
18. If one numbers is

excluded, their mean is 16. Find the excluded

number. Solution:

https://dl.doubtnut.com/l/_rIet1Nvnoku3
https://dl.doubtnut.com/l/_t8rkCaCFcdHO
https://dl.doubtnut.com/l/_Fs2Z2Y96HkXs


Mean of  numbers 


=>Sum of these  numbers 


Let number that has been excluded be 

New mean = 


Solving this, we get




Therefore answer is 

Watch Video Solution

5 = 18

5 = 18 × 5 = 90

x

90 −
x

4
= 16

90 − x = 64

x = 26

10. The mean weight per student in a group of 7

students is 55 kg. The individual weights of 6 of

https://dl.doubtnut.com/l/_Fs2Z2Y96HkXs
https://dl.doubtnut.com/l/_wfoNBPSRMFQk


them (in kg) are 52,54,55,53,56 and 54. Find the

weight of the seventh
student .

Watch Video Solution

11. The sum of the deviations of a set of 
values


measured from 50 is-10 and the

sum of deviations
 of the values from 46 is

70.Find the values of 
and the mean.

Watch Video Solution

n

x1, x2, .........xn

n

https://dl.doubtnut.com/l/_wfoNBPSRMFQk
https://dl.doubtnut.com/l/_DbY008p08bua


12. If  are n values of a variable 

 such that  and 

. Find the value of  and the

mean.

Watch Video Solution

x1, x2, ....... , xn

X
n

∑
i=1

(xi − 2) = 110

n

∑
i=1

(xi − 5) = 20 n

13. If the mean of five observation


is 11, find the mean

of first three observations.

Watch Video Solution

x, x + 2, x + 4, x + 6, x + 8

https://dl.doubtnut.com/l/_0eXIukn6zuzg
https://dl.doubtnut.com/l/_0lo4j3o0WyRC


14. The mean of 5 number is
18. If one numbers is

excluded, their mean is . Find the excluded

number.

Watch Video Solution

16

15. The mean of 16 numbers is 8. If 2 is added to

every number, what will be the new mean?

Watch Video Solution

https://dl.doubtnut.com/l/_jou95oA7Z8Ue
https://dl.doubtnut.com/l/_yoeqxtVzzi1A


16. The mean of 10 numbers is 20. If 5 is

subtracted from   every number,
 what will be the

new mean?

Watch Video Solution

17. Find the mean of the following distribution:
x:

4
6
9
10
15
f:
5
10
10
7
8

Watch Video Solution

https://dl.doubtnut.com/l/_TwaVT5u5Ucbm
https://dl.doubtnut.com/l/_AAqreCmTMdhb


18. If the mean of the following distribution is 6,

find the value of p.
x:
2
4
6
10
 
f:
3
2
3
1
2

Watch Video Solution

p + 5

19. Find the median of the following data:

25,34,31,23,22,26,35,28,20,32

Watch Video Solution

20. Find the value of p, if the mean of the

following
distribution is 7.5.
 x:
3
5
7
9
11
13
 f:
 6
 8

https://dl.doubtnut.com/l/_1yIUrsrVGkGJ
https://dl.doubtnut.com/l/_ifz8jucTHKP6
https://dl.doubtnut.com/l/_9BoRF4T0p1ZT


15
p
8
4

Watch Video Solution

21. Find the missing frequencies in the following

frequency distribution if
 it is known that the

mean of the distribution is 1.46.
 No. of accident

(x)       0                 1                                         2                     3               

4                     5           Total
Frequency (f):          

46       ?                     ?           25       10                    

5           200

Watch Video Solution

https://dl.doubtnut.com/l/_9BoRF4T0p1ZT
https://dl.doubtnut.com/l/_4v7c3U2J6pG7


22. The mean of 16 items was found to be30. On

rechecking, it was found that two items were

wrongly taken as 22 and 18 instead of 32 and 28,

respectively. Find correct mean.

Watch Video Solution

23. The mean monthly salary of 10 members of a

group
 is Rs. 1445, one more member whose

monthly salary is Rs. 1500 has joined the
 group.

Find the mean monthly salary of 11 members of

the group.

https://dl.doubtnut.com/l/_iwdJTzIYGC2m
https://dl.doubtnut.com/l/_G6a7bUynhLLn


Watch Video Solution

24. Find the mean of the following distribution:
x:

4
6
9
10
15
f:
5
10
10
7
8

Watch Video Solution

25. Following table shows the weights of 12

students:
Weight (in kgs):
 67
70
 72
 73
 75
 No. of

Students:
4
3
2
2
1
Find the mean weight.

Watch Video Solution

https://dl.doubtnut.com/l/_G6a7bUynhLLn
https://dl.doubtnut.com/l/_GEpiabyI7Yze
https://dl.doubtnut.com/l/_RASAJ5mG6jgO
https://dl.doubtnut.com/l/_zPQzY3m8Tzdx


26. If the mean of 
 observation


 is 
 , show that

Watch Video Solution

n

ax1, ax2, ax3, , axn a¯̄X̄

(ax1 − a¯̄X̄) + (ax2 − a¯̄X̄) + + (axn − a¯̄X̄) = 0

27. If the mean of 6,4,7 
 and 10 is 8, find the

value of p.

Watch Video Solution

p

https://dl.doubtnut.com/l/_zPQzY3m8Tzdx
https://dl.doubtnut.com/l/_DCQUrWRgHmm5


28. Find the sum of the deviations of the variate

values 3,4,6,8, 14 from their mean.

Watch Video Solution

29. The mean of 40 observations was 160. It was

detected on rechecking that the value of 165 was

wrongly copied as 125 for
 computation of mean.

Find the correct mean.

Watch Video Solution

https://dl.doubtnut.com/l/_ADFX3h9JOGZ0
https://dl.doubtnut.com/l/_fEULLZaUCQ2d


30. If the heights of 5 persons are 144cm, 152cm,

151cm, 158cm and 155cm respectively. Find the

mean height.

Watch Video Solution

31. Find the arithmetic mean of first 6 natural

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_6rgIQrXouONr
https://dl.doubtnut.com/l/_SWo6QoYjofTf


32. Find the arithmetic mean of first ten odd

natural
numbers

Watch Video Solution

33. The weights (in kg) of 15 students are:

31,35,27,29,32,43,37,41,34,28,36,44,45,42,30. Find

the median. If the weight
44kg is replaced by 46

kg and 27kg by 25 kg, find the new median.

Watch Video Solution

https://dl.doubtnut.com/l/_EYy7iFnlGrQs
https://dl.doubtnut.com/l/_UNR1AoNbqw5q


34. Find the median of the following data:

19,25,59,48,35,31,30,32,51. If 25 is
 replaced by 52,

what will be the new median.

Watch Video Solution

35. Find the mode from the following data:

110,120,130,120,110,140,130,120,140,120

Watch Video Solution

https://dl.doubtnut.com/l/_HrBSlXqAoQoh
https://dl.doubtnut.com/l/_6SAAfSDOqiNI


36. If the
heights of 5 persons are 144cm, 152cm,

151cm, 158cm and 155cm respectively.
 Find the

mean height.

Watch Video Solution

37. Find the
 arithmetic means of first 6 natural

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_qKhhsVApc3LU
https://dl.doubtnut.com/l/_NiIT1c8yN3uG


38. Find the
 arithmetic mean of first ten odd

natural numbers.

Watch Video Solution

39. If the mean
of n observations ax1, ax2, ax3, ....,

axn is aX show that (ax1-aX) + (ax2-aX) + .....+ (axn

- aX) = 0

Watch Video Solution

https://dl.doubtnut.com/l/_wHWtLicMBJhr
https://dl.doubtnut.com/l/_nL32fj0MzcnU


40. If the mean
 of 6, 4, 7, p and 10  is 8, find the

value of p

Watch Video Solution

41. Find the
sum of the deviations of the variate

values 3, 4, 6, 8, 14 from their mean.

Watch Video Solution

42. The mean of
 40 observations was 160. It was

detected on rechecking that the value of 165
was

https://dl.doubtnut.com/l/_LSyMrstCraII
https://dl.doubtnut.com/l/_9liwh5vCXczD
https://dl.doubtnut.com/l/_by5TIQWulKSf


wrongly copied as 125 for computation of mean.

Find the correct mean.

Watch Video Solution

43. The mean of
100 items was found to be 30. If

at the time of calculation two items were

wrongly taken as 32 and 12 instead of 23 and 11,

find the correct mean.

Watch Video Solution

https://dl.doubtnut.com/l/_by5TIQWulKSf
https://dl.doubtnut.com/l/_OMQta1VyNQRr


44. The mean
monthly salary of 10 members of a

group is Rs. 1445, one more member whose

monthly salary is Rs. 1500 has joined the group.

Find the mean monthly salary
 of 11 members of

the group.

Watch Video Solution

45. The mean of
 10 number is 20. If 5 is

subtracted from every number, what will be the

new mean?

Watch Video Solution

https://dl.doubtnut.com/l/_fj3JcTwS8GDf
https://dl.doubtnut.com/l/_2WelGg7XcxgE


46. The mean of
16 numbers is 8. If 2 is added to

every number, what
will be the new mean?

Watch Video Solution

47. The mean of
5 number is 18. If one numbers is

excluded, their
 mean is 16. Find the excluded

number.

Watch Video Solution

https://dl.doubtnut.com/l/_2WelGg7XcxgE
https://dl.doubtnut.com/l/_kqAkc4s8Nibm
https://dl.doubtnut.com/l/_0BuREaIlp3U8


48. If the mean
of five observations x
,
x
+
2
,
x
+
4

,
 x
 +
 6
 ,
 x
 +
 8
   is 11, find the mean of first three

observations.

Watch Video Solution

49. The sum of
the deviations of a set of   values

  measured from   and the sum of deviations of

the values from
46 to 70. Find the values of  and

the mean.

Watch Video Solution

https://dl.doubtnut.com/l/_aAEkAkJuTp2Z
https://dl.doubtnut.com/l/_SiULCwzH0QrC
https://dl.doubtnut.com/l/_HuahC28Ynzvb


50. If the
heights of 5 persons are 140cm, 150cm,

152cm, 158cm and 161cm respectively,
 find the

mean height.

Watch Video Solution

51. Find the
mean of 994, 996, 998, 1002 and 1000

Watch Video Solution

52. Find the
mean of first five natural numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_HuahC28Ynzvb
https://dl.doubtnut.com/l/_zQjVoSfwEscG
https://dl.doubtnut.com/l/_9OykYzFF4Ek7


Watch Video Solution

53. Find the
mean of all factors of 10.

Watch Video Solution

54. Find the mean of first 10
 even natural

numbers.

Watch Video Solution

55. Find the
mean of x, x+2, x+4, x+6, x+8

https://dl.doubtnut.com/l/_9OykYzFF4Ek7
https://dl.doubtnut.com/l/_ocjs5FwJucIA
https://dl.doubtnut.com/l/_MT2EyiRqVKWK
https://dl.doubtnut.com/l/_o3sgcH4xvPID


Watch Video Solution

56. Find the
mean of first five multiples of 3.

Watch Video Solution

57. Following
 are the weights (in kg) of 10 new

born babies in a hospital on a particular
day:
3.4,

3.6,
4.2, 4.5, 3.9, 4.1, 3.8, 4.5, 4.4, 3.6. Find the mean

.

Watch Video Solution

https://dl.doubtnut.com/l/_o3sgcH4xvPID
https://dl.doubtnut.com/l/_CjeGy57oXULk
https://dl.doubtnut.com/l/_obFP2YfVwYEZ
https://dl.doubtnut.com/l/_xvbGPbLwIs69


58. The percentage of marks obtained by

students of a class in
mathematics are: 64, 36, 47,

23, 0, 19, 81, 93, 72, 35, 3, 1. Find
their mean.

Watch Video Solution

59. the numbers
 of children in 10 families of a

locality are:
 2, 4, 3, 4,
 2, 0, 3, 5, 1, 1, 5.   Find the

mean
number of children per family.

Watch Video Solution

https://dl.doubtnut.com/l/_xvbGPbLwIs69
https://dl.doubtnut.com/l/_PnbqPwy1KGnj


60. Duration of
 sunshine (in hours) in Amritsar

for first 10 days of August 1997 as reported
 by

the Meteorological Department are given below:

9.6, 5.2,
 3.5, 1.5, 1.6, 2.4, 2.6, 8.4, 10.3, 10.9
 Find the

mean Verify that

Watch Video Solution

61. Explain, by
taking a suitable example, how the

arithmetic mean alters by (i) adding a constant

  to each term, (ii) subtracting a constant   from

each them, (iii) multiplying each term
 by a

https://dl.doubtnut.com/l/_IiBgsWnlWqR3
https://dl.doubtnut.com/l/_eEgIS5LLDh1h


constant   and (iv) dividing each term by a non-

zero
constant

Watch Video Solution

62. The mean of
 marks scored by 100 students

was found to be 40. Later on it was discovered

that a score of 53 was misread as 83. Find the

correct mean.

Watch Video Solution

https://dl.doubtnut.com/l/_eEgIS5LLDh1h
https://dl.doubtnut.com/l/_oiTMb9nW9vKQ


63. The traffic
 police recorded the speed (in

km/hr) of 10 motorists as 47, 53, 49, 60, 39,
42, 55,

57, 52, 48. Later on an error in recording

instrument was found. Find the correct average

speed of the motorists if the
 instrument

recorded 5 km/hr less in each case.

Watch Video Solution

64. The mean of
five numbers is 27. If one number

is excluded, their mean is 25.Find the
 excluded

number.

https://dl.doubtnut.com/l/_NfArli7vvMvH
https://dl.doubtnut.com/l/_5iUdrSVSzc6o


Watch Video Solution

65. The mean
weight per student in a group of 7

students is 55 kg. The individual weights
 of 6 of

them (in kg) are 52, 54, 55, 53, 56 and 54. Find the

weight of the
seventh student.

Watch Video Solution

66. The mean
 weight of 8 numbers is 15. If each

number is multiplied by 2, what will be
 the new

mean?

https://dl.doubtnut.com/l/_5iUdrSVSzc6o
https://dl.doubtnut.com/l/_6ZWW9x7myjsJ
https://dl.doubtnut.com/l/_73AUaMYJF3Ll


Watch Video Solution

67. The mean of
5 numbers is 18. If one number is

excluded, their mean is 16. Find the
 excluded

number.

Watch Video Solution

68. The mean of
 200 items was 50. Later on, it

was discovered that the two items were misread

as 92 and 8 instead of 192 and 88. Find the

correct mean.

https://dl.doubtnut.com/l/_73AUaMYJF3Ll
https://dl.doubtnut.com/l/_kcyGfaeugtW3
https://dl.doubtnut.com/l/_x7ugMFtY1BCj


Watch Video Solution

69. Find the
sum of the deviations of the variate

values 3, 4,
6, 7, 8, 14 from their mean.

Watch Video Solution

70. Find the
mean of the following distribution:

Watch Video Solution

71. Find the
mean of the following distribution

https://dl.doubtnut.com/l/_x7ugMFtY1BCj
https://dl.doubtnut.com/l/_C6UCwPRFVhyo
https://dl.doubtnut.com/l/_Ir7FDq0ZvLBD
https://dl.doubtnut.com/l/_rOXicI4JjgPa


Watch Video Solution

72. Find the
mean of the following distribution:

Watch Video Solution

73. Candidates
 of four schools appear in a

mathematics test. The data were as follows

School, No. of Candidates, Average Score
I
II
 III
 IV,

60
48
Not
available
40, 75
80
55
50
If the
average

score of the candidates of all the four schools is

https://dl.doubtnut.com/l/_rOXicI4JjgPa
https://dl.doubtnut.com/l/_3oPtIWZgMGCm
https://dl.doubtnut.com/l/_FAT46p3t4Knr


66, find the
number of candidates that appeared

from school III.

Watch Video Solution

74. Five coins
 were simultaneously tossed 1000

times and at each toss the number
of heads were

observed. The number of tosses during which 0,

1, 2, 3,
 4 and 5 heads were obtained are shown in

the table below. Find the mean
number of heads

per toss.
No. of heads per toss, No. of tosses
0
1
2

3
4
5, 38
144
342
287
164
25
Total, 1000

Watch Video Solution

https://dl.doubtnut.com/l/_FAT46p3t4Knr
https://dl.doubtnut.com/l/_8jAcVAL0p4ud


75. Find the
median of the following data:
25, 34,

31,
23, 22, 26, 35, 28, 20, 32

Watch Video Solution

76. Find the
 medina of the following values:
 37,

31, 42,
43, 46, 25, 39, 45, 32

Watch Video Solution

https://dl.doubtnut.com/l/_8jAcVAL0p4ud
https://dl.doubtnut.com/l/_TTuxkIwYrz7e
https://dl.doubtnut.com/l/_umxmCfoLJmoJ


77. The median
 of the observation

arranged in
 ascending order is 
 Find the

value of 

Watch Video Solution

11,  12,  14,  18,  x + 2,  x + 4,  30,  32,  35,  41

24.

x.

78. Find the
 median of the following data:


 If 
 is

replaced
by 
, what will
be the new median.

Watch Video Solution

19,  25,  59,  48,  35,  31,  30,  32,  51. 25

52

https://dl.doubtnut.com/l/_Pbpz8CdrFT10
https://dl.doubtnut.com/l/_w76gD1F0vrO2
https://dl.doubtnut.com/l/_vb639qwRU57N


79. Find the
 median of the following data
 83, 37,

70,
29, 45, 63, 41, 70, 34, 54

Watch Video Solution

80. Find the
median of the following data
133, 73,

89, 108, 94, 104, 94, 85, 100, 120

Watch Video Solution

81. Find the
 median of the following data
 31, 38,

27,
28, 36, 25, 35, 40

https://dl.doubtnut.com/l/_vb639qwRU57N
https://dl.doubtnut.com/l/_8cI0SyGf93hy
https://dl.doubtnut.com/l/_9faCzROeiALq


Watch Video Solution

82. Find the
median of the following data
15, 6, 16,

8, 22, 21, 9, 18, 25

Watch Video Solution

83. Find the
 median of the following data
 41, 43,

127, 99, 71, 92, 71, 58, 57

Watch Video Solution

https://dl.doubtnut.com/l/_9faCzROeiALq
https://dl.doubtnut.com/l/_NS6YXowpEKQj
https://dl.doubtnut.com/l/_T55bhXyElV02


84. Find the
median of the following data
25, 34,

31,
23, 22, 26, 35, 29, 20, 32

Watch Video Solution

85. Find the
median of the following data
12, 17, 3,

14, 5, 8, 7, 15

Watch Video Solution

86. Find the
median of the following data
 92, 35,

67,
85, 72, 81, 56, 51, 42, 69

https://dl.doubtnut.com/l/_DVgwuHF324G3
https://dl.doubtnut.com/l/_gopVh7PgYspk
https://dl.doubtnut.com/l/_sNn8GBlShuC0


Watch Video Solution

87. Numbers


 are

written
 in descending order and their median is

25, find 

Watch Video Solution

50,  42,  35,  2x + 10,  2x − 8,  12,  11,  8

x

88. Find the
 median of the following

observations: 46, 64, 87, 41, 58, 77, 35, 90, 55, 92,

https://dl.doubtnut.com/l/_sNn8GBlShuC0
https://dl.doubtnut.com/l/_UequwVjrScno
https://dl.doubtnut.com/l/_44o58X6FKGxY


33.   If 92 is replaced by 99 and 41 by 43 in the

above data, find the
new median?

Watch Video Solution

89. Find the
median of the following data: 41, 43,

127, 99, 61, 92, 71, 58, 57 if 58 is replaced by 85,

what will be the new median.

Watch Video Solution

90. The weights
(in kg) of 15 students are: 31, 35,

27, 29, 32, 43, 37, 41, 34, 28, 36, 44,
45, 42, 30. 
Find

https://dl.doubtnut.com/l/_44o58X6FKGxY
https://dl.doubtnut.com/l/_7Pzu9IVsgctu
https://dl.doubtnut.com/l/_myy8zdBJPNkA


the median. If the weight 44 kg is replaced by

46kg and 27kg by
25kg, find the new median.

Watch Video Solution

91. The
 following observations have been

arranged in ascendingorder.
 If the median of the

data is 63, find
 the value of 

Watch Video Solution

x :

29,  32,  48,  50,  x,  x + 2,  72,  78,  84,  95

https://dl.doubtnut.com/l/_myy8zdBJPNkA
https://dl.doubtnut.com/l/_FNPJXVuqqeI8


92. Find the
 mode from the following data:
 110,

120,
130, 120, 110, 140, 130, 120, 140, 120

Watch Video Solution

93. Find the
 mode for the following series:
 2.5,

2.3,
2.2, 2.4, 2.7, 2.7, 2.5, 2.3, 2.2, 2.6, 2.2

Watch Video Solution

94. Find out
 the mode of the following marks

obtained by 15 students in a class:
Marks: 4,
 6, 5,

https://dl.doubtnut.com/l/_upKOFdhuXWQY
https://dl.doubtnut.com/l/_i76ZUrhhA5E9
https://dl.doubtnut.com/l/_bn7ecqBQrEfF


7, 9, 8, 10, 4, 7, 6, 5, 9, 8, 7, 7

Watch Video Solution

95. Find the
 mode from the following data:
 125,

175,
225, 125, 225, 175, 325, 125, 375, 225, 125

Watch Video Solution

96. Find the
mode for the following series:
7.5, 7.3,

7.2, 7.2, 7.4, 7.7, 7.7, 7.5, 7.3, 7.2, 7.6, 7.2,br>

Watch Video Solution

https://dl.doubtnut.com/l/_bn7ecqBQrEfF
https://dl.doubtnut.com/l/_PyjS9Bj4Rf9e
https://dl.doubtnut.com/l/_lm3ubZttat39


97. Find the
 mode of the following data in each

case:
14, 25, 14,
 28, 18, 17, 18, 14, 23, 22, 14, 18
7, 9,

12,
13, 7, 12, 15, 7, 12, 7, 25, 18, 7

Watch Video Solution

98. The demand
 of different shirt sizes, as

obtained by a survey, is given below:
Size:, 38, 39,

40, 41, 42, 43, 44, total
No. of Person (wearing it):,

26, 39, 20, 15, 13,
 7, 5, 125
 Find the
 modal shirt

sizes, as observed from the survey.

W t h Vid S l ti

https://dl.doubtnut.com/l/_lm3ubZttat39
https://dl.doubtnut.com/l/_uT3pbKTgFJOc
https://dl.doubtnut.com/l/_EV7tJTfk3HCB


Watch Video Solution

99. If the
 ratio of mean and median of a certain

data is 2:3, then find the ratio of its
 mode and

mean.

Watch Video Solution

100. If the
ratio of mode and median of a certain

data is 6:5, then find the ratio of its
 mean and

median.

Watch Video Solution

https://dl.doubtnut.com/l/_EV7tJTfk3HCB
https://dl.doubtnut.com/l/_fcxkOOmbfW6r
https://dl.doubtnut.com/l/_v7kTOjDIMMMp


101. If the mean
 of


find 

Watch Video Solution

x + 2,  2x + 3,  3x + 4,  4x + 5 is x + 2, x

102. The
arithmetic mean and mode of a data are

24 and 12 respectively, then find the medina of

the data.

Watch Video Solution

https://dl.doubtnut.com/l/_UJs7Fk1lJ9w4
https://dl.doubtnut.com/l/_rbWFT2cr8VyC


103. If the
 difference of mode and median of a

data is 24, then find the difference of
medina and

mean.

Watch Video Solution

104. If the
 median of scores


 , then

find
the value of 

Watch Video Solution

, , , and (where x > 0)is 6
x

2

x

3

x

4

x

5

x

6
x

6

https://dl.doubtnut.com/l/_uGFo5mM15rIb
https://dl.doubtnut.com/l/_6GXrmkUuGWKC


105. If the mode
 of scores


, find the
value of 

Watch Video Solution

3,  4,  3,  5,  4,  6,  6,  x  is 4 x.

106. If the
median of 

, find the
maximum possible value of 

Watch Video Solution

33,  28,  20,  25,  34,  x is 29

x.

107. If the
median of the scores `1,\ 2,\ x ,\ 4,\ 5\ (w

h e r e\ 1<2

https://dl.doubtnut.com/l/_NfGH2AWo4CGz
https://dl.doubtnut.com/l/_fjNjuxSrJRC4
https://dl.doubtnut.com/l/_GWnYUIuF3X8u


Watch Video Solution

108. Which one
of the following is not a measure

of central value:
 Mean       (b)  
 Range         (c) 

Median      
(d)  Mode

Watch Video Solution

109. The mean of
 
 observations
 is 
 If 
 is

added to
each observation, then the new mean is


(b) 
(c)
 
(d)


Watch Video Solution

n x. k

X X + k X − k kX

https://dl.doubtnut.com/l/_GWnYUIuF3X8u
https://dl.doubtnut.com/l/_Ef20qogwgoAu
https://dl.doubtnut.com/l/_AdDAB1hPhJWQ


110. The mean of
 
 observations
 is 
 If each

observation is multiplied by 
the mean of
new

observation is
 
(b)
 
(c)
 
(d) 

Watch Video Solution

n X.

k,

kX
X

k
X + k X − k

111. The mean of
 a set of seven numbers is 81. If

one of the numbers is discarded, the mean of
the

remaining numbers is 78. The value of discarded

number is
98         (b) 
99              (c)  100       
(d) 

101

https://dl.doubtnut.com/l/_AdDAB1hPhJWQ
https://dl.doubtnut.com/l/_Nx25gisIggiP
https://dl.doubtnut.com/l/_C3v7VMvnpNNz


Watch Video Solution

112. For which
 set of numbers do the mean,

median and mode all have the same value?
2, 2, 2,

2,4                 (b)  1,3, 3, 3, 5
1, 2, 3, 5,
6                (d) 

1, 1, 1, 2, 5

Watch Video Solution

113. For the set
of numbers 2, 2, 4, 5 and 12, which

of the following statements is true?
 Mean =

https://dl.doubtnut.com/l/_C3v7VMvnpNNz
https://dl.doubtnut.com/l/_5OJGxBZc04pX
https://dl.doubtnut.com/l/_aBRbthOOKx42


Median                               (b)   Mean > Mode
 Mean <

Mode                   (d)  Mode=Median

Watch Video Solution

114. If the
 arithmetic mean of


then the
value of 
is
10

(b)
12 (c) 14
(d) 16

Watch Video Solution

7,  5,  13,  x and 9 is 10, x

115. If the mean
 of five observations


 then thex,  x + 2,  x + 4,  x + 6,  x + 8 is 11,

https://dl.doubtnut.com/l/_aBRbthOOKx42
https://dl.doubtnut.com/l/_AINziNDSMIHK
https://dl.doubtnut.com/l/_zXQymjOBLP3G


mean of first three observations is
 9 (b)
 11 (c) 13

(d) none of these

Watch Video Solution

116. Mode is
least
frequent value           (b) middle

most value
most
frequent value          (d)  none of

these

Watch Video Solution

117. The
following is the data of wages per day: 5,

4, 7, 5, 8, 8, 8, 5, 7, 9, 5, 7,
 9, 10, 8. The mode of the

https://dl.doubtnut.com/l/_zXQymjOBLP3G
https://dl.doubtnut.com/l/_vwTg3xmQxyiO
https://dl.doubtnut.com/l/_YdhedAY7MgPG


data is:
7       (b) 
5           (c)  8      
(d)  10

Watch Video Solution

118. The
 empirical relation between mean, mode

and median is


Watch Video Solution

Mode  =  3 Median  − 2 Mean

Mode = 2 Median − 3 Mean

Median = 3 Mode − 2 Mean

Mean = 3 Median − 2 Mode

https://dl.doubtnut.com/l/_YdhedAY7MgPG
https://dl.doubtnut.com/l/_KuXPE7YxmbD9


119. The median
 of the following data:

is
0 (b)
 
(c)
2 (d) 3.5

Watch Video Solution

0,  2,  2,  2,   − 3,  5,   − 1,  5,  5,   − 3,  6,  6,  5,  6

−1. 5

120. The mean of
 
 If the

mean
of 
 , what is
 the mean of 


31 (b)
32 (c) 33
(d) 34

Watch Video Solution

a,  b,  c,  d and e is 28.

a,  c,  and e is 24

b and d?

https://dl.doubtnut.com/l/_2T1XS9BjP1xF
https://dl.doubtnut.com/l/_ZLyY2dQwsnP7


121. The
algebraic sum of the deviations of a set

of 
 values from
 their mean is
 0 (b) 
 (c)


(d)


Watch Video Solution

n n − 1 n

n + 1

122. 
 are three
 sets of values of 





 Which one
 of the

following statements is correct?

A,  B,  C x :

A : 2,  3,  7,  1,  3,  2,  3, B : 7,  5,  9,  12,  5,  3,  8

C : 4,  4,  11,  7,  2,  3,  4

Mean of A =  Mode of C

Mean of C = Median of B

https://dl.doubtnut.com/l/_Luqa65bPE1kx
https://dl.doubtnut.com/l/_zOuPhEuZ7kHH


Watch Video Solution

Median of B = Mode of A

Mean,  Median and Mode of A are equal

https://dl.doubtnut.com/l/_zOuPhEuZ7kHH

